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Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Display Number Panel :

Section Negative Marks :

Group All Questions:

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default?:

64065353022
2

Online
Mandatory
12

12

50

Yes

No

Yes

0
1
640653111406
No

null



Question Number : 17 Question Id : 640653765298 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :

N.A Minimum Instruction Time : 0
Correct Marks : 0
Question Label : Multiple Choice Question

THIS IS QUESTION PAPER FOR THE SUBJECT "FOUNDATION LEVEL : SEMESTER I: MATHEMATICS
FOR DATA SCIENCE I (COMPUTER BASED EXAM)"

ARE YOU SURE YOU HAVE TO WRITE EXAM FOR THIS SUBJECT?
CROSS CHECK YOUR HALL TICKET TO CONFIRM THE SUBJECTS TO BE WRITTEN.

(IFIT IS NOT THE CORRECT SUBJECT, PLS CHECK THE SECTION AT THE TOP FOR THE SUBJECTS
REGISTERED BY YOU)

Options :
6406532561724, ¥ YES

6406532561725. * NO

Question Number : 18 Question Id : 640653765299 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :

N.A Minimum Instruction Time : 0
Correct Marks : 0

Question Label : Multiple Choice Question

Instructions:

o There are some questions which have functions with discrete valued domains (such as
day, month, year etc). For simplicity, we treat them as continuous functions.

¢ For NAT type question, enter only one right answer even 1f you get multiple answers
for that particular question.

Options :
6406532561726. ¥ Instructions has been mentioned above.

6406532561727. * This Instructions is just for a reference & not for an evaluation.



Sub-Section Number : 2

Sub-Section Id : 640653111407
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 19 Question Id : 640653765305 Question Type : MSQ Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :

N.A Minimum Instruction Time: 0

Correct Marks : 4 Max. Selectable Options : 0
Question Label : Multiple Select Question
Choose the correct option(s) from the following:

Options :

6406532561744, v LI g 1s an even function, then f o g 1s always an even function

6406532561745,  1f f is an invertible increasing function, then f™' is a decreasing function.

The function f: N — N given by f(0) = f(1) = f(2) =1 and f(z) =z -1

>3 B
6406532561746, ¢ for z > 3 is onto but not one-one

There exists a function g which 1s not one-one and a function f which is one-one

6406532561747, % such that fo g is one-one.

Question Number : 20 Question Id : 640653765318 Question Type : MSQ Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :

N.A Minimum Instruction Time : 0

Correct Marks : 4 Max. Selectable Options : 0
Question Label : Multiple Select Question
Choose the set of correct options.

Options :



If a function is continuous at a particular point, then the function is
6406532561757, % differentiable at that point.

If a function 1s differentiable at a particular point, then the function must be

6406532561758, ¥ continuous at that point.

If f(z) 1s differentiable at the point a, then cf(z) i1s differentiable at the point

6406532561759, ¢ @ for all c € R, and (cf)'(a) = cf'(a)

If f(x) and g(z) are differentiable functions, then |(f + g)(z)| is also a
6406532561760, % differentiable function.

Sub-Section Number : 3

Sub-Section Id : 640653111408
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 21 Question Id : 640653765317 Question Type : SA Display Question
Number : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 3

Question Label : Short Answer Question

. ; . . Ji=)— 1

If f(z) = VO — 22, then find out the value of 8v/8 x ]111} L{]
r—F T —

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

-8



Question Number : 22 Question Id : 640653765319 Question Type : SA Display Question
Number : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 3

Question Label : Short Answer Question

L'_j .2
Y . P - : -
Consider the function f(z) = —. Then 1111[1]f{-1“,} 15
T—

|z
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

0

Sub-Section Number : 4

Sub-Section Id : 640653111409
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 23 Question Id : 640653765312 Question Type : SA Display Question
Number : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 4

Question Label : Short Answer Question

Consider the function

3z
|
(x + 2)2
flz)=42z-5 -l<z<l
_ 8 ;
e
r+1
Find the total number of points in (—2,2) at which f(z) is not continuous.

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

2

Question Number : 24 Question Id : 640653765313 Question Type : SA Display Question
Number : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 4

Question Label : Short Answer Question

Let f be a differentiable function such that f'(4) = 1 and f(4) = -3. Ify = azx +b
denotes the tangent of the function f at z =4 then find the value of b.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

-7

Sub-Section Number : 5

Sub-Section Id : 640653111410
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 640653765306 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (25 to 26)

Question Label : Comprehension



Answer the given subquestions.

Sub questions

Question Number : 25 Question Id : 640653765307 Question Type : SA Display Question
Number : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 3

Question Label : Short Answer Question

Find the number of solution(s) of the equation 9X+ 3X -6 = 0.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 26 Question Id : 640653765308 Question Type : SA Display Question
Number : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 3

Question Label : Short Answer Question

Find the number solution(s) of the equation In(7) + In(2 - 4x2) = In(14).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Id : 640653765309 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (27 to 28)

Question Label : Comprehension

— &t — o
Let f(x) = { 2 | [

vVar+2 T >a

Based on the above data, answer the given subquestions.

Sub questions

Question Number : 27 Question Id : 640653765310 Question Type : SA Display Question
Number : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 3

Question Label : Short Answer Question

Find the smallest value of a such that the function fis defined for all real numbers.
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

-2

Question Number : 28 Question Id : 640653765311 Question Type : SA Display Question
Number : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 3

Question Label : Short Answer Question



Find the largest value of a such that the function fis defined for all real numbers and satisfies the

horizontal line test.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

-1

Sub-Section Number : 6
Sub-Section Id : 640653111411
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 640653765300 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (29 to 32)

Question Label : Comprehension



Let f(z) = +/T and g(z) = +/3 — =.

Composition of functions Function Domain
1) fog a) y"B——x;’T 1) | [0,00)
11} gof b) Yz 2) | [-6,3]
ifi) fof ¢) | vV3—v3—=z|3)| (~o,3]
1v) gog d) v3—z 4) | [0,9]

Table: M1T1

From the above table, answer the given subquestions.

Sub questions

Question Number : 29 Question Id : 640653765301 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :

N.A Minimum Instruction Time : 0

Correct Marks : 2

Question Label : Multiple Choice Question
Choose the correct option from the following:

Options :

6406532561728, % 1) —b) —3)

6406532561729, # 1) —¢c)—1)

6406532561730, # &) —d) —2)

6406532561731, ¢ 1) —d) —3)



Question Number : 30 Question Id : 640653765302 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :

N.A Minimum Instruction Time : 0
Correct Marks : 2
Question Label : Multiple Choice Question

Choose the correct option from the following:

Options :

6406532561732, ¥ 1) —a) —4)
6406532561733, # i) —b) —3)
6406532561734, % ) —¢) —2)

6406532561735, # 1) —a)—3)

Question Number : 31 Question Id : 640653765303 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :

N.A Minimum Instruction Time : 0

Correct Marks : 2

Question Label : Multiple Choice Question
Choose the correct option from the following:

Options :

6406532561736, % 1) —b) —3)

6406532561737, ¢ i) —b) —1)



6406532561738, % %) —@) —3)

6406532561739, % 11i) —¢) —2)

Question Number : 32 Question Id : 640653765304 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :

N.A Minimum Instruction Time : 0

Correct Marks : 2

Question Label : Multiple Choice Question
Choose the correct option from the following:

Options :

6406532561740, * ) —¢)—3)

6406532561741, % ) —a)—1)

o om
6406532561742, ¢ V) = ¢ — %)

o g
6406532561743, % v) =0l —2)

Question Id : 640653765314 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (33 to 34)

Question Label : Comprehension

Find the limits of the given sequences in the subquestions.

Sub questions



Question Number : 33 Question Id : 640653765315 Question Type : SA Display Question
Number : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 4

Question Label : Short Answer Question
a2

{a,} such that a, = %

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

0

Question Number : 34 Question Id : 640653765316 Question Type : SA Display Question
Number : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 4

Question Label : Short Answer Question

Evaluate the following limit:

947 16
]In_l_i1

3 73 4 2z — 12

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

12



Sem1 Statistics1

Section Id : 64065353023
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 11

Number of Questions to be attempted : 11

Section Marks : 40

Display Number Panel : Yes

Section Negative Marks : 0

Group All Questions : No

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 640653111412
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 35 Question Id : 640653765320 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :

N.A Minimum Instruction Time : 0
Correct Marks : 0

Question Label : Multiple Choice Question

THIS IS QUESTION PAPER FOR THE SUBJECT "FOUNDATION LEVEL: SEMESTER I: STATISTICS
FOR DATA SCIENCE I (COMPUTER BASED EXAM)"

ARE YOU SURE YOU HAVE TO WRITE EXAM FOR THIS SUBJECT?
CROSS CHECK YOUR HALL TICKET TO CONFIRM THE SUBJECTS TO BE WRITTEN.



